N of simulated tracks vs transverse vert position

Particles

Tracking
'50'\

=
Q
N

[y
o
w

10?

| N of associated tracks (simToReco) vs transverse vert position

Q
S

o
w

Re(;gnstructgd TPs

=
o
N

10

| N of simulated tracks vs z vert position

gParticles
=
QU

Trackin
G
o
w

=
o
N

10

2 A
BN
T 7. R S
Rl

RatiQ
§

i

0.95

“RoSel

el

1072

1 10 10?
TP vertr (cm)

107

N of associated tracks (simToReco) vs z vert position |

=
o
w

Reconstructed TPs

=
o
N

20

10
TP vert z (cm)

30

: :

B HE 3

L c:

E = :I:# ES“ iter

F4 1= RS BHar 1o
[+ 1

- a

5
2

10 10°
TP vertr (cm)

N of simulated tracks vs.simPVz |

=
Q
r
T T

TrackingParticles

=
o
W

10?

510 15 20
TP Sim. PV z (cm)

0

Rati
L

0.9

0.8%

=30

5 T

<+*+*++ ++H

18 i Fu—_ |
-20 -10 O 10 20 30

TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Beconstru%ed TPs

o
N

10E

510 15 20
TP Sim. PV z (cm)



	Contents
	Page 1


